1. EXISTING STEEL BEAM.

. EXISTING STEEL JOIST.

|

3. P1650AS UNISTRUT BEAM CLAMP
EACH SIDE.

12"

4. P5001 UNISTRUT.

. 1/2"@ THREADED ROD.

. 3/4"@ THREADED ROD SEE MECH'L.
FOR ATTACHMENT TO UNIT.

\\@ 7. LINE OF MECH'L. UNIT.

8. P1000 UNISTRUT LATERAL BRACING
AT EACH CORNER.

—©

20 )

208008D42

1. EXISTING JOIST.
2. EXISTING BEAM.
3. 3/8”" SHEAR PLATE.

4. P1000 UNISTRUT.

3 SIDES
AT JOIST

3 SIDES }57e 7

AT BEAM

MECHANICAL UNIT LATERAL BRACING

21 )

208008D43

1. STEEL BEAM (HSS).

2. T-BAR GRATING - MS T-3320 (2"
BEARING BARS AT 1 1/2"0C). BY
MCNICHOLS OR APPROVED EQUAL.

16 )

oooe

. EXISTING CONCRETE OVER METAL DECK.

. STEEL TUBE FRAME - HSS6x3x1/4 LAID

FLATE.

. ANGLE - 3x3x1/4 - 2'-0" LONG. AT EACH

FRAME CORNER. INSTALL (1) 3/4" @
A307 BOLT AT CENTER OF ANGLE.

MECHANICAL UNIT.

1/4" CAP PLATE.

. 1/4"x4" WIDE STEEL PLATE. EXTEND

ABOVE TUBE FRAME AS REQUIRED FOR
ATTACHMENT OF MECHANICAL UNIT - 4"
MIN.

. ATTACHMENT BY MECHANICAL UNIT

MANUFACTURER.

NOTE:

THIS DETAIL APPLIES TO UNITS SP-3,
AND SP-3E. (SEE ARCH'L. EQUIPMENT
SCHEDULE)

EQUIPMENT ANCHORAGE AT FLOOR

208008D36

i

R

17 )

CONTINUOUS ANGLE - 3x3x1/4.

w\._oW

GUARD RAIL VERT. SEE ARCH'L. |

EXISTING CONCRETE OVER METAL
DECK.

. CLIP ANGLE AND BOLT PER

MECHANICAL UNIT MANUFACTURER.
DRILL THROUGH EXISTING DECK FOR
INSTALLATION OF BOLT.

. ANGLE - 3x3x1/4 - 2'-0" LONG.

INSTALL BOLT AT CENTER OF ANGLE.

NOTE:

THIS DETAIL APPLIES TO UNITS SP-1,
SP-1A, SP-2 AND SP-2E. (SEE ARCH'L.
EQUIPMENT SCHEDULE)

EQUIPMENT ANCHORAGE AT FLOOR

208008D34

v -

3/16 IV 2

5" MIN

]

3/16 12-12

GRATING AT EDGE BEAM

22 )

208008D44

1. STAIR STRINGER (HSS).

\ COMPLETE PENETRATION JOINT AT STRINGER

208008D17

23

. SPACER PLATE BETWEEN CHORD

ANGLES. WELD TO EACH ANGLE TOP
AND BOTTOM WITH A 3" LONG 3/16"
FILLET WELD.

. JOIST EXTENSION AS REQUIRED.

. CONCENTRATED LOAD ON JOIST.

GREATER THAN 2.

SEE NOTE BELOW.

NOTES:
A. WHERE CENTER OF LOAD IS MORE THAN

B.

2" FROM JOIST PANEL POINT, ADD
EXTRA WEB MEMBER; ANGLE 2x2x3/16"
TO CHORD PANEL POINT EACH SIDE OF
JOISTS.

DETAIL REQUIRED AT NEW MECHANICAL
UNIT.

\JOIST REINFORCING FOR CONCENTRATED LOAD

S300

19 )

wiw

1/8

ELEVATION

O
MECHANICAL SUPPORT AT PANEL POINTS

8.

9.

EXISTING STEEL JOIST.

. 1x5x0'-8" PLATE AT EACH PANEL POINT.

PANEL POINT SPACING SHALL NOT
EXCEED 3'-0".

. 1/2x8x0'-8" PLATE.

(2) 1/2"@ BOLTS.
P1001 UNISTRUT.

WHERE CENTERLINE OF PLATE IS MORE
THAN 2" FROM JOIST PANEL POINT, ADD
EXTRA WEB MEMBER PER DETAIL
18/S311 NOTCH PLATE AS REQUIRED
FOR INTERFERENCES.

. 3/4"0 THREADED ROD. SEE MECHANICAL

FOR ATTACHMENT TO UNIT.

SEE DETAIL 20/S311.

LINE OF MECHANICAL UNIT.

10.P1000 UNISTRUT LATERAL BRACING

AT EACH CORNER.

NOTE:

A.

AT CONTRACTOR'S OPTION, A WT6x76
MAY BE USED IN LIEU OF THE TWO
PLATES.

208008D41

1

12 )

13

S

]

X

/16

. MASONRY WALL.

. STAIR STRINGER.

. STAIR TREAD. SEE ARCH'L.

2"0 PIPE SPACER.

3/4"@ EPOXY BOLTS AT 24" O.C.
CENTERED ON STRINGER. SEE DETAIL
7/S300 FOR MORE INFORMATION.

STRINGER AT MASONRY WALL

STAIR-11

1.

2.

3.

STAIR STRINGER.

HEADER/LANDING BEAM.

12 GAGE END PLATES. WELD ALL
AROUND AND GRIND SMOOTH.

STAR STRINGER AT LANDING

208008D32

OPENING WIDTH "H” VERT. REINF
0'-0" TO 3'-11" 1'-4" PER G.S.N.
4'-0"TO 8'-0" 2'-8" PER G.S.N.
8'-1"TO 10'-0" 3'-4" #5 AT 24" O.C.
10'-1" TO 14'-0" 4'-0" #5 AT 16" O.C.
14'-1" TO 18'-0" 8'-0" #5 AT 16" O.C.

. TOP OF SOLID GROUT FILL DEPTH.

. OPEN END BLOCKS AT SOLID GROUTED

SECTION.

. VERTICAL REINFORCING HOOK AT

BOTTOM. TURN HOOK PARALLEL WITH
WALL.

(2) #5 BARS.
LINTEL U-BLOCK.

SHORE LINTEL UNTIL GROUT REACHES
DESIGN STRENGTH.

. ADDITIONAL (2) #5 CONT. AT SPANS

OVER 10'-1".

(2) #5 CONT. AT TOP OF SOLID
GROUTED SECTION. (AT OPENINGS
WIDER THAN 14'-0" PROVIDE (2) #5
HORIZONTAL AT 4'-0" 0.C. FOR FULL
HEIGHT OF LINTEL).

NOTE:

EXTEND OPEN END BLOCK, GROUT AND
REINFORCE 2'-1" MIN. CONT. PAST JAMB
EACH END.

TYPICAL MASONRY LINTEL

14

1.

2.

4.

Mé

EXISTING CONCRETE OVER METAL DECK.

NEW CONCRETE CURB W/ (1) #4
CONTINUOUS.

. #3 DOWELS W/ 8" HOOK (TURNED

PARALLEL TO CURB) AT 12"0C. DRILLED
AND ANCHORED INTO FLOOR SLAB W/
SIMPSON SET-XP EPOXY PER ESR-2508.
EMBEDMENT = 2",

SEE ARCH'L.

NOTE:

FOR CURB LOCATION SEE E3/A921 AND
SHEET A471.

NEW_ CONCRETE CURB FOR CART WASHER

208008D33

1/4

CENTERLINE BEAM OR BACK OF
CHANNEL.

. 3/8" THICK STIFFENER.

. 1/4" MAX.

. PROVIDE STIFFENER BOTH SIDES OF

BEAM WEB, U.N.O. ON PLANS.

BEAM STIFFENER

$100

N

3/1612-24

I

3/16

1. EXISTING CONCRETE OVER METAL
DECK.

2. EXISTING STEEL BEAM (CHANNEL).
3. CONTINUOUS ANGLE - 4x4x3/8.

4. NEW CONCRETE OVER METAL
DECK.

5. NEW STEEL BEAM.

6. CONTINUOUS 1/4" BENT PLATE.
7. CLIP ANGLE PER DETAIL 1/S311.
8. NEW STEEL STUD WALL.

9. #4x22" D.B.A. AT 12" O.C.

REINFORCMENT OF EXISTING STEEL BEAM

208008D21

N J QNP/‘_\N w\,_o_\N—/.NA

3/16 1/ z
PN

N )

! A E—

““““ Jﬁw.. V. v.hv % [N .\VN b

. I =
N " . “\
| 4 N { .
_

NEW CONCRETE OVER METAL DECK.
NEW STEEL BEAM.

CONTINUOUS 1/4" BENT PLATE.
HSS BEAM NOTCH AS REQUIRED.

(1) #4x22" D.B.A. CENTERED AT
BEAM.

1/4" SIDE PLATE EACH SIDE.

CHANNEL AT STEEL BEAM

VA2
AT SLIP CONNECTION

ST 3
L

i

4"

AT RIGID CONNECTION

. STEEL STUD.

. 14 GAGE CLIP ANGLE.

BENT PLATE AND STEEL BEAM OR
OTHER SIMILAR SUPPORT.

OPTIONAL #12 SELF TAPPING SCREWS IN
LIEU OF WELDING CLIP ANGLE TO STUD
(4 SCREWS AS SHOWN).

. (3) #12 SELF TAPPING SCREWS IN 3"

LONG SLOTTED HOLES.

NOTE:

U.N.O. SLIP CONNECTION REQUIRED
TYPICAL, RIGID CONNECTION REQUIRED ON
ALL STEEL STUDS ABOVE WALL OPENINGS

SECTION

O

TYPICAL CLIP ANGLE CONNECTION

S29A

SECTION

®

7 )

208008D31

3/16

-12

3/16

STEEL BEAM (HSS).

T-BAR GRATING - MS T-3320 (2"
BEARING BARS AT 1 1/2"0C). BY
MCNICHOLS OR APPROVED EQUAL.
CONTINUOUS ANGLE - 3x3x1/4.

GUARD RAIL VERT. SEE ARCH'L.

GRATING AT EDGE BEAM

. STAIR STRINGER, FOR MINIMUM

SIZES, SEE TYPICAL STAIR FRAMING
PLAN.

SUPPORT ANGLE, 1 1/4x1 1/4x3/16,
TYPICAL.

HEADER/LANDING CHANNEL BEAM.
FOR TREADS, RISERS AND

ADDITIONAL STAIR INFO., SEE
ARCH'L.

. (3) 3/47@ EPOXY ANCHORS PER

DETAIL 7/S300 AS SHOWN INTO
GROUTED MASONRY CELL. CUT 470
HOLE TO INSTALL ANCHOR INFILL
WITH 3/16" PLATE.

. NEW CMU WALL.

. EXISTING CMU WALL.

. 2"0 WASHER PLATE x THICKNESS
REQUIRED TO SHIM BETWEEN CMU
AND STRINGER.

EACH END,
EACH ANGLE

8 )

1. MASONRY WALL.

2. METAL DECK. ATTACH PER G.S.N.

3. CONT. LEDGER ANGLE, 3x3x3/16.

4. GROUT 4" MIN. AROUND ANCHOR BOLTS.

w\._oW \

\

0.

®

8" MAX.

5.

208008D18

PLATE, 1/4x4x0'-9" WITH (2) 3/4"0
ANCHORS AT 6" O.C. LOCATE PLATES
MIDWAY BETWEEN JOISTS OR MIDWAY
BETWEEN JOIST AND ADJACENT WALL
AS OCCURS AND WITHIN 1'-0" FROM END
OF LEDGER ANGLE. MAXIMUM ANCHOR
SPACING TO BE 4'-0".

(2) #5 IN 8" DEEP CONT. BOND BEAM TO
BE LOCATED 8" MAX. ABOVE OR BELOW
BOTTOM OF METAL DECK.

\\J@
L@

8" MAX.

\
METAL DECK AT Z>m0mw< WALL

1/4

M38

. MASONRY WALL.

. STEEL BEAM. BLOCK OUT TOP

FLANGE.

. BEARING PLATE 1/2x6x1'-0" WITH (2)

3/4"@ ANCHORS AT 8" O.C.

. (2) #5x3'-8" LONG REBAR IN 8"

DEEPx4'-0" LONG BOND BEAM.

. 1" DRYPACK.

LEDGER ANGLE

CONT. BOND BEAM.

GROUT OR DRYPACK POCKET SOLID
AFTER BEAM ERECTION.

STEEL BEAM AT MASONRY WALL

10 )

208008D19

STRINGER AT CMU WALL

y

208008D14

—
—
w
ARNARTRUREA) B

N

w

w

o

N

©

N

o

M e © ©
3716 @\

. STAIR STRINGER, FOR MINIMUM SIZES,

SEE TYPICAL STAIR FRAMING PLAN.
EXISTING MASONRY WALL.

HSS 4X4X1/4" STUB COLUMN WITH
PLATE 1/2X6X0'-6".

BEARING PLATE 1/2"x5" WITH (2) 5/8”
SIMPSON TITEN HD SPACED AT 10" O0.C
EMBEDDED 5" MIN PER ESR #1056.
1"DRY PACK.

12 GAGE END PLATES WELD ALL
AROUND AND GRIND SMOOTH.

SUPPORT ANGLE, 1 1/4x1 1/4x3/16,
TYPICAL.

. HEADER/LANDING CHANNEL BEAM.

. FOR TREADS, RISERS AND ADDITIONAL

STAIR INFO., SEE ARCH'L.

3 2" 10"

it

SECTION AT BASE PLATE

STRINGER AT CMU WALL

3

f
208008D30

1.

2,

STAIR STRINGER.

SUPPORT ANGLE, 1 1/4x1 1/4x3/16,
TYPICAL.

. HEADER/LANDING CHANNEL BEAM.

FOR TREADS, RISERS AND ADDITIONAL
STAIR INFO., SEE ARCH'L.

. EPOXY ANCHORS PER DETAIL 7/S300 AT

STRINGER AND 2/S3.11 AT LANDING.

STAIR STRINGER AT LANDING

208008D16

architecture
interiors
landscape
planning

Dekker
Perich
Yabatini

6860 Bermuda Rd. Ste. 100
Las Vegas, Nevada 89119

702.436.1006

fax 436.1050

info@dpsdesign.org

I

ARCHITECT

e ——

ENGINEER

L
NS S1
=5 2z
= EEEEEE
24 L=\ WS
& | G252 50
SRR L L=yt
o e FEREIL
% $5gzd
m < 0] =

I

PROJECT

UNIVERSITY MEDICAL CENTER

1800 West Charleston
Las Vegas, Nevada 89102

UMC Sterile Processing
Department Remodel

I
REVISIONS

>

DRAWN BY TT
REVIEWED BY KCG
DATE 07/07/09
PROJECT NO. 07-0541 (208008)

DRAWING NAME

FRAMING DETAILS

831




